Name:

GCSE (1 - 9)

Simultaneous Equations

Instructions

» Use black ink or ball-point pen.

« Answer all Questions.

« Answer the Questions in the spaces provided

— there may be more space than you need.

« Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice

« Read each Question carefully before you start to answer it.
» Keep an eye on the time.

* Try to answer every Question.

« Check your answers if you have time at the end

mathsgenie.co.uk
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1  Solve the simultaneous equations

' =18
20 + 3y~
3y = - 2
R -2
J 3
= D
- 2
<
(Total for question 1 is 3 marks)
2 Solve the simultaneous equations
x—3y=-23 x 5
Sx+2y=4

_,/73 = =119
= 119
A
. 7
5 +2(7) = ¢
S5o9c + 14 = L _ 9
- —1o RS
v = - 2 Y= i 7 .................

(Total for question 2 is 3 marks)
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3  Solve the simultaneous equations
2_x+5-y=—10
2x—y=28
gy=-3
20 + 5(_3) - - 10
7_ x = 5
- 5
> Z
5
X= s Zrrrerieninn,
Y= T
(Total for question 3 is 3 marks)
4  Solve the simultaneous equations
4x+2y=10 X5
Sx+3y=12 x4
20 + 10y = 50
20;(__ + IZj = 438
"Zj = 2
j = - /
Yo +2(-1) = 10
= J
X
= S e
y= e
(Total for question 4 is 3 marks)
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Solve the simultaneous equations

2x+5y=4
7£—§§=11
Tz =3
= 3 = !
: / _
z -
5 oy 7
2 . = 1z
—_— Sj 3
[
Sj = _% DT S
= 2 2
kj =3 Y= e B
(Total for question S is 3 marks)
6 Solve the simultaneous equations
3x-2y=7]
7% +2y=13
l10x = 2.0
x = 2
7(2) v 29 =13
1y o+ 2y 7 At
= "'/
Y
o
J~ =

(Total for question 6 is 3 marks)
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7  Solve the simultaneous equations

2x -3y =4 ¥l
dx—y =13
4x - 69 = §
4o - gy =13
.-5“7 = _,5
g =/
b — | = I3
42’/ = /‘f
A
' 7
¢ Z = -

Solve the simultaneous equations

3(€)+j:l5

(Total for question 8 is 3 marks)

Ix+y=15 X T
Sx+2y=24

éi’C ’f%J =

Hx ZJ = 2¢

x/:'é

gy = - 3

(Total for question 8 is 3 marks)
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9  Solve the simultaneous equations

3x-y =4 x 2

2x—-3y =9 x 2
G oc ’9_3 = — %
6 x ’olj = 27
y= =%

(Total for question 9 is 3 marks)

10  Solve the simultaneous equations

6x + 5y =4.5
3x—2y =9 x 1
bx -4y = 8
,.qj = ]3.5
. _ 135 _-27 _-- 3
R T e
9 | & z

3 x - Z(tf—) = 9

3>c-k2:'m'

25 = L2 6 ; x=/%2 .......
- 3
x> ;/7’ y=/i ..............

(Total for question 10 is 3 marks)
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11  Solve the simultaneous equations 3x =9+y
x+5y =5
3x - Y = =
= x 3
> -+ Sj =)
2oc — Y =9
—\by = ~ 6
_ 6 . 3
J79¢7 %
2\ = 5 25
c + 5 (=
e+ 5 (5) R
x + 'S = 5 y= 3»8
g 4o ?/I_é__: $§ ..........................
X T 73 & (Total for question 11 is 3 marks)
12 Solve the simultaneous equations
Jy+11=4x
10x+2y+1 =0
%ﬁ )= Yo - Bj
4x - 3\3 = 1| @ X 5
oy
VO ¢ + 2—‘3 = — | @
20x - 154 = 55 4 -3 (-3) =4
— - o Yo 4 9 = 1|
20x ?j = =2
(-l”)c = 2.
— | = = 1
7j 57 x =
|
y= -3 X= i s
Y=, ol SR
(Total for question 12 is 3 marks)
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13 In a shop 2 coffees and 3 cakes cost £9.95

In the same shop 1 coffee and 4 cakes cost £10.35.
x

Work out the price for one coffee and the price for one cake.

"2xc Tt 3j = 795
2 —fL,tj = /0,35_ X 2
2x Xj = 20.70 X + 4(2.15)= 1035
— _ B _ e - e
2x * 33 = 9.95 x> $ ¥ c lo. 3
>x = 1.75
S—fj = 10.75
9y = 215 |
Coffee £............ } 75 ................

(Total for question 13 is 3 marks)

14 Sweets are sold in small packs and in big packs.
There is a total of 175 sweets in 4 small packs and 3 big packs.
There is a total of 154 sweets in 5 small packs and 2 big packs.
Work out the number of sweets in each small pack and in each big pack.

45 + 3b =175 X v
53,./—26; /5(]‘ < 3 5(}4),{.2_6:/5‘5‘
s + &b = 350 g0 + 2b= 154
— - - ' = 7
S5 v 6b = 4E2 26 =71
b= 37
"‘75 *:.*’ ! Z
s = b
Small Pack ............... /é ....................
Big Pack 37 ....................

(Total for question 14 is 3 marks)
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